Calcul mental.
Prénom : 								Date : 				
Le nombre 1000.
1 – Décompose 1000.

2 – Colorie dans la même couleur les deux nombres à associer pour arriver à 1000.
	948
	357
	258
	159
	84,5

	14,5
	906
	52
	915,5
	94

	657
	751
	742
	341,5
	343

	841
	985,5
	658,5
	249
	643



3 – Trouve la différence.
1000 – 854 = 						1000 – 654 = 			
1000 – 256 = 						1000 – 885 = 			
1000 – 147 = 						1000 – 455 = 			
1000 – 321 = 						1000 – 103 = 				
1000  - 546 = 						1000 – 629 =			

4 – Quelques divisions.
1000 : 2 = 							1000 : 10 = 				
1000 : 4 = 							1000 : 20 = 				
1000 : 5 = 							1000 : 50 = 				
1000 : 8 = 							1000 : 40 = 				
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